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(A) Define and explain mineral deposits. Add a note on history of mineral 14

deposits.
OR
(A) (i) Genetic classification of mineral deposits. 07
(ii) Formation of andalusite group of minerals. 07
(B)  Short Questions (Any four out of six) 04

(i) Define an ore.

(ii) Name the methods of mineral exploration.

(i) State the aspects of mineral exploitation.

(iv) Give the base for Lindgren’s classification.

(v) Mention various modes of occurrences of chrysotile.
(vi) State the Indian occurrences of talc.

(A) Describe crystallisation differentiation and Girnar complex. 14
OR
(A) (i) Origin, pressure and temperature of hydrothermal solutions. 07
(ii) Effects of magmatic emanations on acid igneous rocks. 07
(B) Short Questions (Any four out of six) 04

(i) State the conditions of metasomatic replacement.
(ii) Define metasomatism.

(iii) What is liquid immiscibility?

(iv) Draw a figure of successive mineral veins.

(v) Define assimilation.

(vi) What are gash veins?

(A) Describe alluvial and aeolian placers. : 14
OR ’

(A) (i) Sedimentary petroleum cycle. 07

(ii) Role of CuSQy in the zone of supergene enrichment. 07

(B) Short Questions (Any three out of five) ' ‘ 03

(i) What are gossans?

(i) Define placers.

(iii) Provide conditions for the formation of sedimentary deposits.
(iv) Define residual deposits. ‘

(v) What are evaporites?

(A) Discuss gemstones. i4
OR

(A) (i) Copper deposits of India. 07

(ii) Magnesite deposits of India. 07

(B) Short Questions (Any three out of five) 03

(i) Name the host rock of Kolar gold field.

(ii) Give the mineralogy of titanium ores.

(iii) State the occurrences of tin in India.

(iv) Name the minerals used in chemical industries.
(v) Give the mode of occurrence of fire clay.

"
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Q-1 A Write The Following. :
)] Explain two types of coding styies in detail (14)
Or
(I} Explain all coding standards in detail with detail of error, fault and (14)
fatlure concept.

Q-1 B. Short Questions(Attempt Four) 4)

1. What is stub or driver?

2. Which is longest phase of whole SDLC?
3. What is debugging?

4. What is error?

5. What is v&v activity?

6. What is other name of code reading?

Q2 A Write The Following. :
4y Explain white box testing in detail with any two subtypes in detail (14)
: Or
@ Explain any two code verification techniques in brief, (14)
Q-2 B. Do as Directed(Attempt four) (4)

1. What is cost driver?
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2. What is goal of project management activities?
4. What is group review meeting?
5. What is goal of risk management?

6. What is quality plan?

Write The Following.
Explain Blackbox testing in detail with its all sub types.
Or
Explain team structure in detail with project roles and staffing detail.

Short Questions(Attempt Any three)

1. What is test case?
2. What is other name of software development team?
3. What is exhaustive testing?
4. Which are properties of test criteria?
5. What is other name of white box testing?
Write The Following.

Explain COCOMO Model in detail with single variable model
Or

Explain risk analysis with all identification methods with all mitigation
steps

Short Questions(Attempt Three)

I. Who is inventor of cocomo model?

2. Which is common method for risk identification?
3. C-use stands for.............. ?

4, What is dead code?

5, What is common factor for effort estimatiori model?

(14)

(14

@)

(14)

(14)
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1. All questions are compulsory and carry equal marks.

2. Use of scientific calculator is allowed.
3. Sratistical & logarithmic tables and grapfr papers will be nrovided on request.

Q.1 a [ Statetwo paramcter Cauchy Distribution. Obtain characteristic function of

Q.2

Q.3

{4

i

2

— L b

Cauchy distribution.
Derive mean and variance of Laplace distribution.

OR
What is log normal dmmbunon? Drerive its raw moments
In usual notations, for Cauchy distribution with parameter g, show that mode
and median are same and equal to u.
Answer ANY TWO of the following:
For Cauchy distribution, mean does not exist. Give reason.
State difference between Double Lixponential and Laplace distributions.
State characteristic function of douible exponential distribution.
Derive marginal distribution of X and conditions] distributions of ¥ given X in
case of bivariate normal distribution,
State and prove two random variadle (X, ¥) following Bivariate Normal
Distribution, are independent if and only if p=20.

OR -
Derive the moment generating filnction of Bivariate Normal Distribution.
Let X and ¥ be jointly normal rar dom variables with parameters i, = 0,
Hy = —1, of=la=4p= :-1- ,then, find P{X4Y>0)
Answer ANY TWO of the folEowmg
[f X and Y have bivariate normal distribution with paxamutels (3,1, 16, 25, .6),
find Pr{3< Y < §] : _
[f X and Y have bivariate normal distribution, then state the mean of
distribution of X given Y. :
State the regression Iine of X given Y as an approptiate conditional
expectation.
In usual notations, state and prove general form of’ (‘lmbyshev s inequality.

Hence or otherwise, prove that P[1x — p| = ko] < k2

If the probability density function of a random varidble X is given by

70



Q4

b

L R S XY

oo b ey

- Xy, n=12,3,... of n independent variables where P (X,1 = i) =2

N335 -2

Lyt (1-x)o<x<t and f{x)=0, otherwise, then

fO) = o
Find the probability that x will take a value within 2 standard deviation of the
mean and compare it with P(0.2 < x < 0.8).

- OR
State and prove Bernoulli’s Law of large numbers. 7
Examine whether the weak law of large numbers holds good for the sequence 7

val ~ 3’
andP(Xn = -—\/—%) =2

Answer ANY THREE of the following: 3
Which measure of dispersion is used in Chebyschev’s inequality?
Let X be a random variable with E(X)= 0 and V (X) = 1. What integer value k
will assure that P(|X| > k) £0.019
State the use of Chebyshev_’s Inequality.
Define convergence in probability.
Define weak law of large numbers.
State LiapounofP’s form of Central limit theorem. State uses of Central Limit 7
Theorem.
A bank teller serves customers standing in the queue one by one. If the service 7
time X7 for customer / has mean £Xi=2 (minutes) and Var{Xi)=1. Assume that
service times for different bank customers are independent and ¥ be the total
time the bank teller spends serving 50customers. Find P(90<F<110),

OR

Ifx sample mean of a random sample of size n from Po{(m), (where m is 7
parameter = 4), then using Central limit theorem, determine n such that

P[IY - m} < lJ:o.954
2

State and prove Lindberg Levy’s form of central limit theorem 7
Answer ANY THREE of the following 3
What is Central Limit theorem?

Give one real life application of central limit theorem.

State the purpose of continuity cotrection for central limit theorem.

The record of weights of male population follows normal distribution. Its mean
and standard deviation are 70 kg and 15 kg respectively. If a researcher
considers the records of 50 males. then what would be the mean and standard
deviation of the chosen sample?

Central limit theorem is about the sampling distribution of the means of large
numbers of random samples. Do you agree?

A
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Q.1 {A) (i} Draw the circuit of a log amplifier using CPAMP and derive the equation of output (07)
] voltage. Explain the limitations of this circuit. )
{ii} Draw the circuit of an antilog amphﬂen using OPAMPs and derive the equation of its  (07)
putput voltage.
OR .
(i} Explain how a multiplier can be constructed by using log and antilog amplifiers. (07)
Explain the use of analog multiplier as frequency doubler,
{ii} Draw the circuit of an Integrator using OPAMP and derive the equation of its output  {07)
voltage. Exnlain what type of output waveform will generated when the square-wave
input is applied to the circuil.

(B) Answer in short {Any Four): : ' ‘ {04)
(1) What is the function of comparator circuit?
(2} Draw the characteristic of an ideal comparater?
(3) What is regenerative comparator?
(4) Draw the circuit for finding square root using analog multiplier.
{5) Why an.integrator is an attenuator circuit?
{6) Draw the circuit of differentiator using CPAMP.

Q.2 {A) (i} Draw the bloci diagram of a PLL and explain the function of each block. (07}
(i} Explain the use of Exciusive-OR gate as digital phase comparator. (07}
OR

{i) Draw the circuit diagram of IC 566 connected as VCO. Derive the equation of (07)
frequency of output voltage. '
{ii) Explain the working of PLL as frequency capturing device. Derive the equation of Lock-  {07)
in Range for the PLL.

{8) Answer in short (Any Four): {04)
-~ (1)} What is the function of phase comparator circuit?
{2) Define voltage to frequency conversion factor for VCO.,
{3) Define lock-rage for #LL.?
(4) Define capture range far PLL? ‘
{(5) What is operating supply voltage range for PLLIC-5657
{6) Give atieast one use of PLL. '

Q.3 (A} (i) Draw the cross-section view and svmhol ‘of an SCR. Draw the V-I characteristic of an  {07)
‘ SCR and explain its working.
(i) Draw the circuit diagram of Half-wave |ect|f|er using SCR, explain its working. Derive  (07)
equation of autput dc voltage.
. OR :
(i) Explain about the force commutation method to Turn-Off the SCR. Explain the (07)
advantages of this method.
(i} Draw the circuit diagram of a static contactor using SCRand explain its working. {07)

(B} Answer in short {Any Three): (03)
{1) Define latching current for SCR,
{2} Define Holding current for 5CR.
{3) Define ferward blocking voltage for SCR.
{4) Why the name SCR is given?
{5) What is the advantage of SCR rectifier circuit over diode rectlfler circuit?

P T0.
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{ii)
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3

(B). Answer in short {Any Three): (03)

N236 -4

Exptain the construction, operation and characteristic of TRIAC, _ {07)

Explain the application of TRIAC as (i} High power switch {ii} Light dimmer. (07}
OR

Explain the construction, operation and characteristic of DIAC. Explain working of (07)

light dimmer circuit. :

Draw the circuit diagram of UJT relaxatioh ascillator. Expiain its working, Derive the (07)

equation for frequency of oscillation.

- {1) What is Thyristor? .
{2} What is the most common application of DIAC?
(3) Draw the circuit of Automatic voltage stabilizer.
{4) Name the three terminals of an wT.
{5) Define: Intrinsic stand-off ratio.

LT
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Que-1 (A} Explain Routine maintenance and clinical utilities at the hospitals [14]
OR
1. Write note on basic concepts of hospital management. {71
2. Desecribe the various support services installed at the hospitals. [7]
(B) Answer the following (Any four) 4]
1. What is use of incineration facility in hospitals?
2. List pathological waste generated in the hospital.
3. Give full name for MHA.
4. What is bed ratio?
5. Explain the role of supply chain management in hospitals.
6. List types of manpower in hospital
Que-2 (A) Describe basic setup of operation theatre and its maintenance process. [14]
OR
1. Write the note standards and ISO certification for hospitals. [7]
2. Discuss sterilization protocol. ‘ [71
(B) Answer the following (Any four) : [4]
1. What is NABL? '
2. Explain ‘clear zone’
3. Name chemical vapours used for fumigation
4. What is validation process?
5. Give two benefits of NABL certification
6. What is use of Particle counter?
Que-3 (A) Explain first-aid treatment for cardiac failure and use of external defibsillator [14]
_ OR ' :
1. Describe adult CPR. [7]
2. Explain first-aid treatment for burns . [7]
(B} Answer any Three of the following 3]
1. What is a seizure? ‘
2. CPR ratio for an infant is 15:2 in case of two rescuers (True/False)
3. Describe the sign of obstruction in air-way.
4. How to treat dehydration?
5. Inguiry on patient on any previous disease is a part of which ward procedure?
Que-4 (A) Discuss the pre-operative preparation and post-operative care. (147
OR
1. Wrile a detailed note on carc required in the event of post-partum. [7]
2. Explain diagnose and care during trauma [7]
(B} Answer any Three of the following _ [3]
1. What is intensive care unit? q '
2. When is artificial air-way needed? .
3. What is the use of ventilator?
4. Neonatal weight less than 1200 grams is categorized under level II1 care. (True/False)
5. What is the aim of preparedness for emergency treatment?

X A
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[.  Explain: —{A) Fundamental complex of Himalaya and its petrology.
(A) (i)  Cambrian rocks of Salt Range area.

(i)  Lipak and Po series.

{C) Write brief answers (any four out of six):
(1), Provide name of Dharwar rocks of Kashmir area. _
(2).  Give stratigraphic sequence of Ordovician and Silurian of Spiti area.
(3).  Name rock types of Cambrian of Salt Range.
(4).  Give names of the rocks which may be Vindhyan.in age in extra-Peninsuls.
(5). +Provide sequence of Haimanta series in Himalaya.
(6).  Which rocks are found in Muth series ol Himalaya?

2. Describe:..  (A) Productus Limestones and Producius fauna,
- OR
{A) (i)  Giumal Sandstones and flysch.

(i) The elevation of Himaiaya.
(C) Write short answer (any four out of six):
(1). Name the term used for calcareous coneretions occurring in Spiti shales.
(2).  What were the reasons for the extinction of Siwalik fauna?
(3).  Define Khadar.
(4).  What is the age of Speckied sandstone in Himalaya?
(5).  Provide sequence of Keuper in extra-Penjusula.
- (6). Give age of Kioto limeslone in extra-Peninsula,
3. Write  ~ (A) Identification of faults in the feld.
notes: OR

(A) (i) Classification of faults based on angle of dip and apparent movement of fault

block.

(1) Joints in sedimentary rocks.
(C) Write in short (any three out of five):
(). Define mineralisation. - S
(2).  Define pitch of a fault.
(3).  Give names of different types of joints in igneous rocks.
(4). Provide two importance of joints,
(5).  Define axial plane. :

4. Discuss: (A) . Classilicarion of folds based on behaviour with depth and mode of
' occurence. ,
‘ OR

(A) (i) Thrusts, over-thrusts, nappes and imbricate structures,

(i) Structural-concepts of Himalaya.
~ (C) Write in brief (any three out of {ive):
(1).  Write one structural concept of Aravalli,

(2). Define plunge of a foid.

(3).  What is order of superposition?
(4). "Draw a diagram of kink bands.
(5). Define monocline.

(14)

(07)

(7).

(04)

(14)

(07)

(07)

(03)

(14)

(07)

©7)
(03)
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Q-1 A Write The Following.
1)} Explain Exception handling with all built in exceptions in detail with (14)
example.
Or
(I}  Explain Graphics class with all methods and explain circle shape in (14)
detail with its example.
Q-1 B Short Questions(Attempt Four) (4)
1. Which is mandatory block of exception handling?
2. What is error?
3. Give any two methdds name who share same co-ordinate systemn.
4. AWT stands for...............
5. What is throws keyword?
6. List down categories of exror.
Q-2 A Write The Following.
()  Explain Applet Life Cycle in detail. (14)
: Or
1)) Explain difference between applet-application with steps of applet (14)
creation.
Q-2 B Do as Directed(Attempt four) (4)

1 Which file has not generated while occurring error?
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2. List down types of Applet.

3. Which is the most base class for java hierarchy?

4. Which package is by default imported in any java program?
5. which method has called in dead stage of applet

6. Which are two mandatory attributes of <applet>?

Write The Following.
Explain Architecture of JDBC with any three component in detail. (14)
Or
Explain awt hierarchy in detail with any two listeners and its methods
(14)

Short Questions(Attempt Any three) : 3)

For taking input from user in applet which tag is used?
What is value of () method?

List down ways if draw polygon shape.

Which are ways of creating frame in awt.

Set Mnemonic () is common method in how many controls.

Al S

Write The Following.
Explain difference between AWTfSWING with any two swing controls.  (14)

Or
. . (14)
Explain FONT and COLOR class with any five methods of both.
Short Questions(Attempt Three) 3)
1. Which is common tool in awt and swing?
2. To display message on status bar which method is used?
3. JDBC stands for...............

4, MVC Stands for......oovvenes

5. Which method has called for display stage in applet?
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Q. 1 (a) (i) State and prove Neyman Pearson Lemma. (?}

() If £ (x,0) =1+ @) x° 0 < x <1. To test Hy: =2 against H,: §= 1asasmglevalueofx15 )

taken. Find power function for the critical region x < ¢ (determine the value of c} and the size of type |

error is 0.008.
Or

(i). Write a short note on (i) Type I and type I errors (ii) power function. ' (9
(ii) A coin is tossed 6 times-and hypothesis H0: p=1/2 is rejected against Hl: p= 3/4 if the H)
number of head is greater than 4. Calculate probabilities of two types of errors.
Q. 1 (b) Answer any Four o U1 )
(i) Explain characteristics of Null and alternative hypothesis.
(ii) If the test is rejected for two tail then what can you say for one tail case of the same test and same
level of significance.
(ifi)  Show the critical region on normal probability curve at 5% level of significance when the
alternative hypothesis is one tail.
(iv)  Define level of significance.
(v) Explain critical region,
(vi)  What is the criterion for a test to be most powerful test,

Q. 2. (i) Write a short note on Likelihood ratio test. (T})
(it) Explain LRT to test the significance difference of tw opulatmn means when population SD P
is known. JoA fle (ude A et YRS radkion -
Or

(i) Explain LRT to test significance of two population variances in normal population, N )
ii Explain LRT fo test the significance of population mean when population SD is unknown.
Q. .2((b; Attempi? any Four. "™ l%gg % o ’\a‘e’b‘ ANYY \"""\ﬁp"‘f\) N ?’\)
(i) Define power of the test \H)
(ii) if the maximum likelihood ratio is equal to | then what can you say about null hypothesis?
(iii) ~ What is the critical value of Za for a two tail test at 5% leve] of signiﬁcance‘?
(iv)  State the null and alternative hypothesis for testing the significance difference of two

populations.
(v) Name the test statistics you use fo test the s;gmﬁcance difference of two variances
(vi) Explain BCR ,
Q. 3 (a} (i} Discuss sign test \}j
(ii) Discuss Median test ANE)

N oo N2
(i) Write short note on Mann-Whitney U test

T
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(ii) Define Run and discuss Run test : ! )
Q. 3 (b) Attempt any three
(i) State any two application of non-parametric test.
{ii} State the hypothesis to be tested in Mann-Whitney U test.

{iii) Give at least one assumption of parametric test.
{iv) Testing of goodness of fit: is it a parametric or Non Parametric test?
{v) Name the tests you use in median test,

1)

Q. 4(a) (i) Give complete lay out of Randomized Block Design

(if) Give complete layout of LSD and give comparison of efficiency between RBD and LSD. N
OR
(i} What is partial confounding? Explain partial cohfounding in 2* factorial experiment. \"}‘)
(i) Show how will you estimate one missing observation in case of RBD? Give its analysls. M
{b) Attempt any Three . &3

(i} State any two merits of RBD over LSD
{ii) Define level
(iii) Define Factor in factorial design.
{iv) Explain confounding. _
{v) Write the degrees of freedom for a 2° factorial design with 3 replicates.
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Note:All questions carry equal Marks
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Q:1(a)(i)  Explain 3-bit simultaneous A/D conversion technique giving its logic diagram. (7)
{i}  Explain Successive approximation technigue of A/D Conversion. {7)
_ OR
(i)  Define Resolution, Steady state accuracy test and monotonicity testin case {7)
Of D/A converter.
(b} For a6 bit DAC having +10 V full scale output find {7)
Change in Output voltage due to change in LSB &The Output voltage for an input 010101
Q:3{b}  Answer following short questions in One sentence(any 4 from 6 ) {4}

Lis a single ramp A/D converter slower or faster than successive approximation -
A/D converter ? .

2.What is a.Linearity?

3.What does SAR stand for in A/D conversion technique?

4.What is resolution of 8 bit DAC?

5. What is the LS8 weight of 6 bit resistive ladder?

6.What is the greatest weakness of a single ramp A/D converter ?

Q:2(a) {i) Show how will you calculate time delay using one register technigue. {7)
{ii) Show how will you calculate time delay using loop within loop technique. (7)

OR
(i) Write a program to count continuously in hexa decimai from FEH to G0H in a (7)

system with 0.5 micro second clock period. Use register C to set up one
miliisecond (ms) delay between each count and display the numbers at
. one of the output ports.
{ii} Write a program to generate a continuous square wave with the period of (7)
500 psec. Assume  the system clock period is 325 nsec . Use bit Dyto output
the Square Wave,
Q:2(b)  Answer following short quastions in One sentence(any 4 from 6 ) {4)
1. What is the control word? |
2.What is full form of BSR?
3.Which two modes does 8255A operate into?
4.How does a parallel counter differ from a serial counter?
5.Why decoding gate glitches eliminated in a synchronous counter?
~ 6.What modulus counter can be constructed with the use of 4 flip flops?
Q:3(a) {i) What is a Stack ? Explain giving examples PUSH and POP Instructions. (7)
(ii} Write a program to provide on/off time to three traffic lights {7}
{(Green, Yellow and Red and two Pedestrian signs(Walk and Don't Walk).
(P.T.0.)
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signal Lights and Signs are turned on/off by the data bits of an output port as shown

below.
Lights ,
1.Green
2.YeHow
3.Red
4, walk
5.Don’t Walk

Data Bits On Time
D 15 Sec.
D, 5 Sec.
D, 20 Sec,
Dy 15 Sec.
D 25 Sec,

The traffic and pedestrian flow are in same direction: The pedestrian should
cross the road when Green light is on.

_ CR
{i} Explain the execution of the following CALL 2070 Instruction
2040 CD '
2041 70
2042 20

2043 NEXT INSTRUCTION
(ii) Explain about conditionat CALL and RET instructions,
3{b}  Answer following short questions in One sentence(ény 3 from5)
1.What principle does a stack work on LIFO or FIFO?
2. Whatis a Stack Pointer? '
3.What the execution of POP PSW will resuit into?
4. What the execution of PUSH B will result into?
5.What the execution of instruction LXI| 5P,2098H will do?
Q:4 {a)(i} Explaincontrol logic and Controf word of 8255A General Purpose programmable Peripheral

Device,

(i} DAC 0808 with 8085 Mmicroprocessor, write assembly language program to generate
a Saw tooth wave form. Assume DAC 0808 is connected at port 21H

OR

(i)Expiain 8255A Ports and their modes, ,
{ii)Give diagram of 8255A Chip select togir and /O port addresses.

Q:4 {b)Answer following short questions in One sentence(any 3 from5)
1.List the operating modes of 82554 Programmable Peripheral Interface?

2.What is the control word?
3.What is full form of BSR?

4.Specify the Handshake signals and their functions if Port A of 8255A is set up as an

output port in Mode 1,

5.5pecify the bit of control word for the 8255,which differentiates between the 1/0 mode

and the BSR mode,

{7)

{7)
(3)

{7)
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Que-1 (A) Explain principle, and procedure of Cryosurgery and Vital sign monitor.

1.
2.

OR
Write purpose, procedure & principle of Lithotripsy.
Explain the purpose and procedure of Angiography .

(B) Answer any Four of the following in brief

SR =

Que-2 (A) Write principle, procedure and applications of X-ray screening photography.

1.

2.

Explain the principle of Laparoscope.

. Write the usage of Heart lung machine.

What is the use of vaporizer in Anaesthesia machine?
Surgical laser system also called
What is general anaesthesia?

“Write the use of electrotomy.

OR
Explain the principle, purpose & procedure of CT scan.
Describe the indications, preparation & procedure of Bariam meal study.

(B) Answer any Four of the following in brief

S e

Write the principle of Doppler.

Which things are prohibited in MRI room and why?

PET scan is used to detect cancer. (True/False)

Define tomographic angle.

Device that convert electrical signal in to sound waves is called
Write any two types of Echocardiography.

Que-3 (A) Explain principle and uses of Cystoscopy and Ophthalmoscopy.

I.
2.

OR
Describe Elecroretinography technique.
Write detailed note on Tread Mill Test.

(B) Answer any Three of the following in brief

e

Write principle of EOG.
What is Diastolic blood pressure?

[Max. Marks : 70

[14]

[7]
(7]
[4]

(14]

[7]
[7]
[4]

[14]

[7]
[7]
13]

Refractometry is preformed to measure electrical activity in parts of brain (True/False)

In which condition tonometry is recommended?
Write the principle of Perimetry.

Que-4 (A) Explain the principle and working of Neonatal incubator.

[

2.

OR
Describe working and application of Dialyzer.
Describe the types and procedure of Radiation therapy in detail.

(B) Answer any Three of the following in brief

o

Pad type of electrode of defibrillator placed on’
What is the recommended frequency for Electric shock?

Write the principle of Defibrillator.

Electric shock treatment is used to treat heart disease (11ue/False)
What is neonatal jaundice?

[14]

[71
17]
[3]

T
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Q-1

Q-2

Q-4

(A)

(A)
(B)

(A)

(A)

®)

(A)

(A)

(B)

(A)

(A)
(B)

NRaf ~2
With the help of neat figure describe Foraminifera and Radiolaria order.

OR
(i) Sub-class Alcyonaria.
(i) Morphological characters of Corals.
Answer the following short questions. (Any four out of six)
(i)  Define Barbados Earth. :
(i) Name two important fossils of foraminifera.
(iii) Write geological time range of Radiolaria.
(iv) What is called to the skeleton of an entire coral colony?
(v)  Give two name of the fossil included in sub class Rugosa.
(vi) Define fossula.

Explain morphological characters of Trilobita.

OR
(i} Geological distribution of phylum Hemichordata and Arthropoda.
(ii) Morphological charecters of a Graptolite.
Answer the following short questions. (Any four out of six)
(i)  Name any two books on invertebrate palacontology.
(i) What are pleurae?

(iff) Draw a labelled figure of Monograptus.

(iv) Name the person who classified Hemichordata.
(v) Name two important fossils of trilobita.
(vi) Define fulcrum.

Give classification of the phylum Echinodermata and describe its morphological
charecters.
OR
(i) Geological distribution of Crinoidea and Brachiopoda.
(ii) Brachiopod fossil shell.
Answer the following short questions. (Any three out of five)
(1)  What is cirri?
(i) How will you differentiate between Regu[ar and Irregular echinoid?
(itf) Define pedicle opening.
(iv) Define deltidium.
(v) Define mamelon and boss.

Explain the advantages of study of microfossils over megafossil in
paleontological reconstruction.

OR
(i) Evolution of vertebrates as per geological time scale.
(ii) The rise and fall of reptile groups.
Answer the following short questions. (Any three out of five)
(i)  Mention two Characteristics of aves.
(iiy ~Which reptiles adapted them for flight?
(iii) Write two Characteristics of amphibians,
(iv)  Define micropalacontology.
(v)  Provide main taxonomic categories.

14

67
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14

07
07
04

07
07
03

14

07
07
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Q- A Write The Following. ‘
(I)  Explain History of mobile software development and Explain life cycle of  (14)

Activity.
Or
What is layout Explain all layouts with example. And Explain Anatémy of
(I) android application. (14)
Q-1 B. Short Questions(Attempt Four)l 4)

. What is Adapter? |
2.Full form of SDK.
3. Full form of DVM.
4, Full form of APIs.
5. What [s Context,

6. What is Services.

Q-2 A  Write The Following.
() Explain Android Manifest file and its common settings and Explain (14)

Broadcast intent and broadcast receiver.

Or

(I) What is Animation? Explain types of animation ? Explain drawing and (14)
working with animation.

P



NLg6e-a
Short Questions(Attempt Four) (4)

1} What method you should override to use android menu system?
A. onCreateOptionsMenu() B.onCreateMenu() C. onMenuCreated()
D. onCreateContextMenu

2}  Explain android activity life cycle?

A . onCreate() —> onStart() —> onActivityStarted() —> onResume() —> onPause() —>

onStop(} —> onActivityDistroy(} —> onDestrov()

B. OnCreate() —> onStart(} —>onResume() —> onPause(} — onStop() —> onRestart() —>

onDestroy()

C.. OnCreate() —> onStart() —> onPause() —> onResume() —> onStop() —> onDestroy(}

D. —ronResume()

3} Broadcast that includes information about battery state, level, etc. is

android.intent.action. BATTERY CHANGED
android.intent.action BATTERY LOW
android.intent.action.BATTERY OKAY
android.intent.action.CALL. BUTTON

o

.
N’

One of application component, that manages application's
background services is called

A. Activities B. Broadcast Receivers C. Services
D. Content Providers

5) Tab that can be used to do any task that can be done from DOS
window is

A, TODO B.message C.terminal D.comments

6) Android component that controls external elements of file is called

A. Intent B.resource C. view D. manifest

Q-3 A Write The Following.

Explain Content provider.? Content URIs with example and explain (14)
deploying your application.



NV 2q6-3
Or

(D Explain Different Types of resources and Explain Android terminologies. (14)

Q3 B
Q4 A
a
D

Short Questions(Attempt Any three) 3)

b

In android, compiled code is executed by part of android system
called

A. DEX B.DVM C.JDK D.API
2) A part of android studio, that work as a simulator for android
devices is called
A. Driver B.emulator C.stub D. firmware
3) Code that provide easy way to use all android features is called
A. API B.DEX C.DVM D. JDK
. 4
4) Android content provider architecture, component that does not
resides on data layer is :
A. Internet  B.SQLite C.Files  D. content provider
5) In android studio, each new activity created must be defined in
A. res/layout B. res/values C. Build.gradle
D.AndroidManifest.xml
Write The Following.
Explain Intent filters and their permission and explain Listview. (19)
Or

Explain types of menu and explain SQLiie database.

(14)



N3G -y

Short Qu‘estions(Attempt Three)
1.What is Intent.

2, What is Bin folder,

3.What is Spinner.

4.What is listview.

5. What is time picker?

(3)
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Q-1(A} Write the foliowmg
(i) What is control chart? Explain the basic principles under{ylng the controt charts. Discuss the
role of control charts in manufacturing processes. . 07

(i} What do you understand by Statistical Quality Control? Discuss briefly its need and

utility in industry. 07
OR
(i} Explain the concept of 3o-limits in detail. o 07 -
{ii) Write a brief note on ‘Criterion for detecting lack of control’. 07
Q-1(B) Answer the following questions. {Any four) 04
(i) When a process is said to be out of control?

(i} Define ‘High spot’ and ‘Law spot’ points.
{ifi) Write any two applications of Statistical Quality Control in real life situation.
{iv) State any two limitations of control charts for variables.
(v) When control charts for attributes are used?
' {vi) What is the probability that seven consecutive points fall on upper side of central
{ine?
Q-2(A) Write the following.

(i) Discuss X and R charts. What are their advantages over the p chart? 07
{i) Obtain control fimits for p and np charts. 07
OR
(i) Write a short note on S-chart and its interpretation. 07
(ii) Write a short note on u-chart and its interpretation. 07
-2(B) Answer the following questions. (Any four) 04
(i) Write the theoretical assumptions behind the controf chart for variables.

(i1) Write the name of control chart for number of defects.
(iii) - Write any two applications of C-chart.
{iv) Why np-chart is preferred to p-chart?
{v) What are modified control limits?
{vi) Interpret the sample points that fall below the LCL on p-chart,



N 5% - A
Q-3(A) Write the following.
(i) Explain and derive O.C. function of X -chart. 07
(i} What do you understand by acceptance sampling procedure? State its uses by giving
proper illusirations. 07
OR
(i) Explain the following terms for single sampling plan for attributes: 07
AQL and LTPD {b) Producer’s risk and consumer’s risk
(i) Explain in detail double sampling for attributes. 07
Q-3(B) Answer the following questions. {Any three} 03

{

(M
(ii)
(iiif)
(iv)

{v)

What is the basic problem in administering a single sampling plan?

Usually in the most economical single sampling plan, which guantity is minimizing?
How the most economical double sampling plans are obtained?

Write merits of double sampling plan over single sampling plan.

Write any two applicati'ons of a single sampling plan.

Q-4(A) Write the following.

{i)

(i)

Discuss the advantages and disadvantages of sampling inspection plans for variables
compare to sampling inspection plans for attributes. - 07

Derive sampling inspection plan for variables when lower specification limit and lot

standard deviation hoth are known. 07
OR
(i Derive sampling inspection plan for variables when upper specification limit is
~ known and lot standard deviation is unknown. 07
{ii) Discuss the advantages and disadvantages of sampling inspection plans for variables
compare to sampling inspection plans for attributes. 07
Q-4(B) Answer the following questions. (Any three) . 03

When Sampling Inspection plan for variables is used?

Write the assumptions of Sampling Inspection pian for variables.

Define Lower Specification limit with reference to Sampling nspection plan for
variables.

What are the parameters of Sampling inspection plan for variables?

in the normal ciréumstances, how many % of observations lie withinx * 3¢ ?
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I (A) Write the fotlowing .
\\ 1272 () Explain Reflection, Diffused Retlection and Relraction with diagrams.
' (i With equation and diagram explain Snell’s Law. Calcutate critical angle of incidence
hetween lwo substances with different reliactive indices where ny= 2 & np=1.
' OR
(i) Explain tight scattering, critical angle and Fresned reflection in detail with diagrams.
(i) Explain dispersion and diffiaction in detail with diagram.
(B) Answer the following (Any Four out of 8ix)
-~ { A single fiber can handle as many voice channels as a pair cable can.
2 Refractive index can be stated as n= .
3 s the bending of fight as it passes through an opening in an obstacle.
"4 Energy in a photon can be calculated by cquation E=_ .
5 Fiber is immune to interference from lightening, cross taik, and radiation.
6  1f the substance emits light of @ wavelength longer than that of the incident light, this is
called __
2 (A)  Write the following .
(iy With diagram explain Tuncd Radio-Frequency Recciver,
(i} Explain operation of diode detector and principles ol simple automatic gain control.
OR
(iy  With diagram explain working of Superheterodyne Receiver.
(i} How is the IF selected? Draw the circuil of a two-stage 11" amplifier and explain it.
(B) Answer the following (Any Four out of Six)
1 The sensitivity of a radio receiver is its ability to amplify __ signals.
2 The selectivity of a veceiver is it ability (o reject signals.
3 The image Trequency is defined as signal frequency ptus twice the _frequency.
4 Conversion transconductance is defined as g= .
5 A high value of intermediate frequency increases difficulties.
6 Modulation index in demaduiated wave is defined as mg=__
3 (A} Write the following
(iy Draw block diagram simplified monochtome TV transmitter. Explain Camera tubes.
(i) With the heip of wavcforims explain horizontal & vertical sync separation.
OR
(iy With diagram explain forizontal and vertical scanning of TV system.
(i) Explain VHF/UHF television tuncr with detailed block diagram.
(B} Answer the following (Any Three out of Five)
- |  Thereare  {rames per second inthe U.S. television system.
2 Three guns of piclure tube is called
3 Give full form of NTSC.
4 Difference between the blanking level & black level is known as the interval.
5 tuners often use a turret principle.
4 (A) Wrile the following
{i} Explain Distortion and Equalizers in data transmission circuits.
(i) Explain Constant-Ratio Codes and Redundant Codes in detail.
OR
(i} Discuss the difference between analog and digital signals.
(i) Wrile a short note on the bandwidth requirements of a data transmission circuit.
(B) Answer the following (Any Three out of Five)

n e b b

A way to reduce crosstalk is to use cables.

Baudot code isa ___ bit code used in telegraphy and paper-lape systems.
Give full form of ASCH. .

EBCDIC is also based onthe _ coded decimal format, ,

Parity bits added (o each character black provide what iscalled parity.

o I

07
07
07
07

04

07
07

07
07

04

07
07

07

07

03

7
07

07
07
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Quc-l. (A) Define Antibiotic and explain Mode of action types of antimicrobial drugs in detail [14]

OR

1. Discuss method for Bicassay of antibiotics

2. Write note on historical developments in Chemotherapy
(B) Answer any Four in bricf

1. What is the function of R-plasmid?
Give one advantage of Bioassay over Chemical assay
Name two Anti-cancer drugs
What kind of drug is Cyclosporin?
What is MIC?
List contribution of Paul Ehlhch (1908) in chemotherapy

VPSR

Que~2 {A) Explain history of Physiotherapy and discuss physiotherapy in Cardiovascular
problem
OR :
1. Explain use of Physiotherapy in Orthopaedic problems
2. Explain common Aerobic exercises '
(B) Answer any Four in brief
What is Arthritis?
How physiotherapy help controlling Asthma?
What is muscle stretching exercise?
When is Rehabilitation type of physiotherapy recommended to sp(nts person?
How joint mobilization relieves stiffen joints?
What physiotherapy useful for in treatment of Sciatica?

AR ol o

Que-3 (A) Define stem cells. Discuss sources and therapeutic uses of stem cells in detail.
OR

1. List various hormone factor and explain any one d1so1del requiring hormonal therapy.

2. Summarize Artificial insemination and in-vitro fertilization technique
(B) Answer any Three in brief
Which blood group can be donated to B-positive recipient?
How Oligonucleotides are used in gene therapy?
Give one area of nanotechnology use in modern drug therapy
Which body part is replaced by IOL?
Which material is used to make surgical suture?

el

Que-4 (A) Describe various treatment available to treat psychological disorders
OR

1. Write note on Counselling and Care needed under psychological illnesses
2. List symptoms to identify Stress and discuss stress buster approaches

(B) Answer any Three in brief

What is Euthanasia?

What is Tranquilizer?

Name two sedative type of drugs

What is Psychoanalysis?

What is Schizophrenia?

s

il aliadi e an

70

[7]
[7]
[4]

[14]

[7]
[7]
[4]

[14]

[7]
[7]
(3]

[14]

7]
17]
(3]
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Q-1 (A) Describe geochemical, peological and geophysical prospecting with their . 14

applications,
OR
(A) (i) Methods of Sampling. : 07
(ii) Topographical and geological maps. 07
(B) Answer the following short questions. (Any four out of six) 04

(i)  Define profile of the earth surface.
(ii) What are outcrop maps?

(iii) Define structural outcrop map.

(iv) Define exploration.

(v) Give the principle of seismic method.
(vi) Write two uses of resistivity meter.

Q-2 (A) Explain causes of natural geohazards and remedies for man-made geohazards. 14
OR

(A) (i) Environmental implications of landslides. 07

(i) Environmental implications of volcano. 07

(B) Answer the following short questions. (Any four out of six) 04

(i) Name any two books on Environmental Geology.
(i) What is seismic zonation? :
- (iii) Name two environmental implication of an earthquake.
(iv) Name two natural hazards.
(v) Mention two environmental implications of flood.
(vi) Define avalanche.

Q-3 (A) Write note on geombrphic features of India and major landforms. 14
- OR

(A) (i) Geomorphological indicators. 07

(i) Active faults of India with suitable map. 07

(B) Answer the foliowing short questions. (Any three out of five) 03

(i) Draw a labelled figure of dendritic drainage pattern.
(i) Name the two land forms produced by glacial erosion.
(iii) Define recurrent seismicity.

(iv) Give two examples of active fault of Gujarat.

(v) Define geomorphology.

Q-4 (A) Explain palacomagnetism. 14
| OR

(A) (i) Mid oceanic ridges. 07

(i1) Island arcs. 07

(B) Answer the following short questions. (Any three out of five) 03

(i) Define magnetic reversal.

(i) Name the pioneer workers in sea floor spreading.

(ii) Where The Prince Edward Crozet Ridge is situated?

(iv) Which mid oceanic ridge contains large regions of granitic layer?
(v) Name the largest and the only outcrop of an oceanic ridge.

A o— X
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Q-1(A} Write the following:
(i) Explain evolution of operating system in detail with suitable diagrams. 7]

{ii} Define operating system. Explain the different views of operating system. Also explain types of

operating system. (7]
OR

(i) Explain Contiguous and Non Contiguous memory allocation. [7

{ii} Explain Disk space management in details. (7]

Q-1(Bj Write the following {Any Four out of Six) (4]

{i) What is an Operating System?
(il) Which one is not Operating System?
{a) DOS {b) LINUX {c) Windows (d) ORACLE
{iif} What is Process?
{iv) is layer of computer system between the hardware and the user praogram,

(a)} Operating environment  {b) Operating system (¢} System environment {d} None of these

{v) What is Davice Management?
{vi} What is Cache Memory?

Q-2(A) Write the following:

{i} Explain Paging in details. [7]

{ii) Explain PCB and Process Life Cycle. in
CR

(i} Expiain nead of 0% and characteristic of Device. (7]

(if} Explain Fragmentation in detail with suitable diagrams. [71

Q-2(B) Write the following (Any Four out of Six) (4]

(i) Briefly explain FCFS.
(it} What is caching?
{fii) Thrashing

(a} is a natural consequence of virtual memory systems
(b} can always be avoided by swapping

{c} always occurs on large computers

{d} can be caused by poor paging algorithms

P-To:
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(iv) What is the name of the technique in which the operating system of a computer executes
several programs concurrently by switching back and forth between them?

{a) Partitioning '(b) Multitasking {c} Paging {d} None of the above
(v} What is Multitasking?
(vi) What is page fault?
Q-3(A) Write the following:

{i) Explaiﬁ Disk Scheduling Algorithm with their methods. N
{ii) Explain Demand Paging in details. ' {7
OR

{iy What is deadlack? List the conditions that lead to deadlock, How deadiock can be prevented?
(7

{ii) Explain Segmentation in detail with suitable diagrams. (71

Q-3(B) Write the following (Any Three out of Five) [3]
(i} Which is Mutual Exclusion?

(it} What is batch OS?
{iii) A page fault

(a) is an error is a specific page

(b} occurs when a program accesses a page of memory
(c) is an access to a page not currently in memory

{d) is a reference to a page belonging to another program

(iv) What is SIF?
{v) What is SSTF?

Q-4{A} Write the following:

{i) Explain Inter process communication in details. [7]
{ii) What do you understand by LA & PA explain in briefly. [71
OR
{i} Explain Scheduting Algorithm. [7]
(if) Explain types of scheduler and criteria of scheduling, [7}
Q-4(B) Write the following {Any Three out of Five) 3]

(i) What is Scheduling?

{ii) What is difference hetween a Producer/Consumer Problem and Critical Section Problem?
(iii} What is Virtual Memory?

{iv} What is the use of Inter process communication?

{v) What is Internal Fragmentation?
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Q. 1 (a) (i) write the stéps of Siplex algorithm. S
(ii) Solve the following LPP using Big M method o j}
Max: Z = 3x;-x; Subject to 2x;+x,>=4; x(+3x%,<=3; X, <=6; x; >=0; x; >=0.
Or '
o1
(i) Suppose that the set Eof feasible solutions to the given LPP is not empty then the basic o4
feasible solution to the LPP lies at the vartex of the convex poly hedron
(i1) A firm can produce three types of cloth, say A, B, and C. Three kind of wool are required for o
it, say: red, green, and blue wool. One unit length of type A cloth needs 2 meter of red wool
and 3 meter of blue wool; One unit length of type B cloth needs 3 meter of red wool, 2 meter
of green wool and 2 meter of blue wool; and one unit of type C cloth needs 5 meter of green
wool and 4 meter of blue wool. The firm has only a stock of 8 meters of red wool, 10 meters
of green wool and 15 meter of blue wool. The profit for cloth A, B and C are Rs.3, Rs. 5 and
Rs. 4 respectively. Formulate the problem as LPP to maximize profit (Give formulation
only). ' '
ol
Q. 1(b) Answer any four.
(i) Write standard form of LPP.
(if) Define artificial variable.
(iii) Explaiﬁ slack and surplus variable.
(iv)  Define basic feasible solution
(v} In simplex method explain the indication of infeasible solution.
(vi)  In simplex method explain the situation of unbounded solution.
Q. 2. (a) () Name the different methods to obtain a basic feasible solution in Transportation problem. © ;}
Show that Transportation problem has a triangular basis.
(ii) Among all the method of obtaining initial basic feasible solution VAM is best method. Why? o7
Write the steps of VAM method, and explain MODI method.
Or
(i) Write the algorithm for Hungarian method to solve Assignment problem. How will you deal o}
with unbalanced Assignment problem?
(ii) Solve the following Transportation problem _ 9?‘
Desrination
D1 D2 D3 D4 Capacity
01 15 12 6 10 300
02 17 18 10 13 400
03 i9 14 19 12 300
Demand 200 300 450 250
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Q. 2 (b). Answer Any four. ,

(1) What is the contribution of dual variables in transportation problem?

(2) Define loop in transportation problem

(3) why can’t we solve assignment problem by using the methods of solving transportation problem?
(4) How will you deal with unbalanced assignment problem?

(5) what is the condition for the existence of optimum solution for the transportation problem.

(6) In assignment problem when can we say that the optimum stage is reached?

Q. 3 (a) (i) Explain replacement problem discuss various stages of replacement. & }
(ii) explain Replacement miodel for items which deteriorate with time under increase in maintenance U
costs increases with time while value of money remains same during the period under considerations

when time is continuous random variable.

OR Cf"}
(1) Discuss the problem of sequencing - ‘
(ii) Discuss the sequencing problem of processing n jobs through k machines. e 3
Q. 3 (b) Attempt any three 0

(i) give two examples of complete failure

(ii) Give two examples of gradual failure.
(iii)  Give two assumptions of job sequencing
(iv)  When replacement is justified?
v) Define processing time.

Q. 4 (a) (i) Discuss three phases of a large project (i} Planning (ii) Scheduling and (iii) Control. 03
(ii) A project has the following time schedule i
Time in Time in

Activity Weeks Activity Weeks

1-2 4 5-7 8

1-3 1 6-8 1

2-4 1 7-8 2

3-4 1 8-9 1

3-5 6 8-10 8

4-9 5 9-10 7

5-6 4

Construct PERT network and compute:
(1) EST and LST for each event
(2} Float for each activiry
(3) Critical path and duration.
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. OR
@ Discuss about PERT and CPM along with its uses,
(i1} A project has the following characteristics
Most optimistic Most Passimistic Most likely
Activity time time time

1-2 1 5 1.5
2-3 1 3 2
2-4 1 5 3
3-5 3 5 4
4-5 2 4 ‘3
4-6 3 7 5
5-7 4 6 5
6-7 6 8 7
7-8 2 6 4
7-9 5 8 6
8-10 1 "3 2
9-10 3 7 3

Construct a pert network. Find critical path and variance for each event.

(Q 4 (b) Attempt any three
(i) Give full form of PERT and CPM
(i1) Define Activity
(iii)  Define Dummy Activity
(iv)  Explain dangling and looping in drawing network,
v) Define critical path.
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Instruction : (1) Figures {o right indicates full marks.
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1 (a) Answer the following :

(a) What is strain gage? Define gage factor. Drive the equation for gage factor 7
in terms of poisson’s ratio.
(b) Write displacement transducer. Explain capactive transducer in details. 7
OR

(a) Name the different types of photosenstive devies, Explain working of Photomultiplies. 7
with anecessary diagram.

(b) Explain piezoeletric transducer. Write advantages and disadvantages of 7
| piezoelectric transducer. '
(b) Answer in brief any four : 4

(i)  Whatis RTD?

(ii) Whatis LVDT?

(i) Write basic difference between active and passive transducer
(iv) Define transducer

(v) Write force summing devices

(vi) What is seeback voltage?

2 (a) (a) Explain Amplitude and phase spectra, Sketch the single and double sided amplitude 7

and phase speatra of the singal. x(f) =4sin (10 nn— ) —o =<t

(b) Classify the system. Explain state and dynamic, linear and nonlinear system. 7
Determine whether the system described by differential equation.

d—i;ii)-t- y(t)+ 6 = x(t) is linear?

OR
(a) Write linerity property of Z transform Find-Z transform of x (n) =cos wnforn > o. 7

(b) (i) Write conviution property of z transform Determine the convolution of the 4
two sequences x(n) = {2, 1, 0, 0.5} and h(n) = {2, 2, ,1, 1}
(ii) Write three important properties of ROC. 7
(b) Answer in brief any four : ' 4

(i)  Define energy signal.
(i)  What is LTI system
(iii) Define casual system
(iv) Find z transform for z(n) = {2, 13, 4, 0}
(v) Whatis ROC?
(vi) Write basic methods ofperforming the inverse z transform.
[P.T.O.
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State and explain uniqueness theorem.

What is hystersis? Show that energy dissipited per unit volume in each cycle is
proportional toarea enclosed by hystersis loop.
OR
Derive Maxwell’s equation and explain displacement current term.
Discuss the polarization of electromagnetic waves with necessary equations.

Answer in brief any three :

(1)  Writ poissen’s equation

(ii)  Write Laplacian operator in spherical polar coodinate sytem.

(iii) Write Laplace’s equation h

(iv) What is coercive force?

(v) Write ferromagnetic substance.

(a) Explain band theory form cellective approach

(b) Obtain and equation for conductivity of semiconductor in terms of change
camiers densitives and their mobilities.

OR

(a) Explain drift under electric field and generation recombination for the derivatio of
continutly equation '

(b) Discuss the diffusion of hole in n type semiconductor bar and obtain the experssion
for current density. ‘

Answer in brief any three :

(i)  What is Einstein relation?

(i) What are the two conduction process in semiconductor.

(iii)  What is intrinsic semiconductor

(iv) Write two application of continuity equation

(v)

Draw enetgy band diagram for conducctor and insulator.

2
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Que-1 (A) Discuss'general expenditufe in health care and its sources in India, [14]
OR
1. Explain Medical Insurance scheme with regards to its Terms and Claim process [7]
2. Discuss potential for developnient of medical tourism in Indta [71
(B) Answer any Four m brief [4}

What is cashless treatment?

Name four companies offering medical insurance

What is ‘Ayushman Bharat Yojana’?

Define Medical ethics

What is The Hippocratic Oath?

Which surgeries are not deductible from taxable income?

A i

Que-2 (A) Explain Central Commitiee and Central Food Laboratory under The Prevention of Food
Adulteration Act, 1954 [14]
OR

1. Explain important provisions of The Drugs Control Act, 1950 7]
2. Discuss constitution and functions of Central & State councils under Pharmacy Act, 1948 (7]

(B) Answer any Four in brief [4]
1. Which type of food is prohibited from impor tmg under the act?

How term ‘Cosmetics’ is defined under Drugs and Cosmetic Act, 1940

What are cannabis (hemp)?

How Opium is derived?

What is law for selling cocoa leaves or sced in India?

Which act requires registration for trade of animal for experiment? -

Al

~ Que-3 (A) Write note on council under Indian Medical Council Act, 1956 . [14]
OR
1. Explain objectives of IMC (Conduct, Etiquette and Ethics) Regulations and duties of
Physician thereunder (7]
2. Write note on Committee and Officers under Indian Nursing Council Act, 1947 [7]
(B) Answer any Three in brief [3]
What is term for President and Vice-president of the Indian Medical Councﬂ‘?
List two actions by Physician regarded as unethical under the law.
Name the act controlling award of degreces to qualify practice in western medicine.
Which authority recognises degree for dental practices?
When the Council can withdraw recognition to a Nursing College?

SR

Que-4 (A) Discuss important sections of Indian Penal Code 1860 related to medical profession [14]
OR :
1. Describe important provision affecting medical termination of pregnancy T
2. Discus how Pre-natal Diagnostic Technique is covelcd under the relevant laws [7]
(B) Answer any Three in brief ‘ [3]
1. What is difference between IPC sections 300 and 307 for murder?
What kind of offenses affecting human body are covered in [PC sections 375 to 377
Name two places permitted to practice lawful medical termination of pregnancy
What is brain-stem death? _
- Who can give consent for organ donation, when the deceased has filed to do so?

R el
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Write notes:

Describe:

Explain:

Discuss:
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(A) Remote sensing and conventional surveying methods.

OR
(A) (1) History of remote sensing.
(i1) Electromagnetic radiation.
(C) Write brief answers (any four out of SiX):
(1), Provide full form of SAR.
(2). What is the wave length of ultraviolet light?
(3). Name basic science used in remote Sensing.'
(4).  Give wave length of infra-red rays.
(5). Provide full form of IRS,
(6). Name few recent Indian satellites.

(A) Computer hard wares and soft wares required for GIS.

OR
(A) (i) Organisational context of GIS.
(i) Geological application of GIS.

(C) Write short answer (any four out of SiX):
(1).  What is the meaning of GIS?

(2).  Write two uses of GIS in government organisation.
(3). What is module in GIS?
(4). Define GIS. '
(5). What is component in GIS?
(6). Write about usefulness of GIS for Private Business.
(A) Underground and opencast mining methods.
. - OR
(A) (i)  Drilling techniques.
(if)  Sampling methods.
(C) Write in short (any three out of five):
(1), What is drilling?
(2).  What is sampling?
(3). What is assaying?
(-+).  Mention few terms related to open cast mining.
(5). What is raise?
(A) Deviation testing and bore hole logging.
OR
(A) (i)  Uses of altimeter.
(i) Plane table surveying.
(C) Write in brief (any three out of five):
(1). What is prismatic compass?
(2). Define surveying.
(3). What is sampling?
(<H).  What is deviation?
’3). Give length of chain used in surveying.

_LP7<.&—-—-

(14)

(07)
(07)

(04)

(14)

(07)
(07)

(04)

(14)

(07)
(07)

(03)

(14)

(07)
(07)
(03)



73

2603N446 - Candidate’s Seat No : o
B.S¢. (Sem.-6) Examination ‘
Elective 311
Computer Science
Time : 2-30 Hours] March 2019 [Max. Marks : 70
Q-1 A Write the following, ,
(). Explain Information Security roles and position And also explain the CIA (14)
triad cyber security Model.
OR
(i)  Briefly explain the need for cyber security. (14)
Q-1 B. Write down the full forms.(Any four out of Six) (4)
I.MALWARE 2.VIRUS 3.VPN 4.DOS 5MOM 6.ISO
Q-2 A Write the following.
(i) What is security governance?Explain the four pillars of security (14)
governance.Also explain the basic DOS commands.
‘ OR
(i) Explain parkerian hexad cyber security model?What is malware?Explain (14)
types of malware.,
- Q-2 B. Short questions(Any four out of six) 4)
1. What is threat?
2. List out the types of firewall.
3. What is cyber security?
4. What i encry.ption?
5. What is decryption?
5. What is cryptography?
Q-3 A Write the following.
(i)  Explain basic components of computer?What is security attack?Explain (14)
types of attack in detail,
OR
(i)  What s enterprise structure?Explain enterprise structures and interfaces in (14)

detail,



Q-3

Q-4

M6 o
Short questions(Any three out of five)

What is threat?

What is a firewall?

CIA stands for...

What do you understand by Risk, Vulnerability & Threat in a
network?

5. SSL stands for....
Write the following.
Differentiate : computer security, information security and information

bl S

assurance.Also write a short note on computer auditing.

OR
Briefly explain computer security model.And Also Explain cyber security
management roles and function.
Short questions(Any three out of five)

1. Which of the following is an anti-virus program
A Norton B.K7 C.Quick heal D.All of these

2.. All of the following are examples of real security and privacy threats
except: '

A.Hackers B.Virus C.Spam D.Worm

3. Trojan horses are very similar to virus in the matter that they are
computer programs that replicate copies of themselves

A True B.False

4. ‘ monitors user activity on internet and transmit that
information in the background to someone else.

A.Malware B.Spyware C.Adware D .Nore of these

5. . Viruses are

AManmade B.Naturally occur  C.Machine made  D.All of the above

— 5« —
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ne birth and death rates, continuous 9

time population growth model, role of weibull distribution and its survival

function

State various factors that affect growth pattern of a population, 9
OR

Write a note on population growth, 9

Explain, in details, application of exponential distribution in population 9

growth.

Answer ANY THREE of the following 6

Define discrete population growth.

What do you mean by Hazard Rate?

What does the positive growth ratio indicate?

What is change in population size during a fixed time? How to calculate it?

Describe, in brief, epidemiology g

Explain odds, odds ratio. 9
OR

Discuss interpretation of odds ratio, 9

A survey was conducted to study lung cancer caused by smoking habit and ¢
Cxposure to asbestos on a group cf people with on lungs of people. 48 of 177
people smoking but did not expose lo asbestos, compared with 24 of 157

people smoking and had €xposure: to asbestos,

Present the data in a tabular form and find odds ratio,

Answer ANY THREE of the follewing

Define risk ratio and give its formula,

Give two advantages of epidemioiogy.

State the role of relative risk. '

With reference to epidemiology, what types of risk
explained by measures of association?

Write a note on clinical trials.
What are longitudinal studies?
OR
Explain different phases of clinical trials.
Give, in brief, general history of drug discovery.
Answet ANY THREE of the fol lowing
State two uses of clinical trials.
State the role of cross over design in clinical rials.
Explain evidence based design.
Define Simpson’s paradox.

s are included and
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(A)  Wrtite the toliowmg ) B : e
(i) Explain BORSCHT functions in the Subscriber Interface with block diagram.
(ii) Explain Switch Hook and Handset. Discuss about Telephone Set in detail.
. OR
(iy Explain Subscriber Line Interface Circuit (SLIC) basic functions with block diagram.
(ity Explain the Cordless Phone. Explain its Features & Capabilities.
gB) Answer the following (Any Four out of Six) -
1 Define : Varistor
2 Give full form of SDMF.
“ 3 Whatis Local Loop?
4 Give full form of PBAX.
5 Define: Voice mail
6 Give full form of CBX
(A)  Write the following
(i) Draw diagram of TDMA & FDMA and explain in detail.
(i) . Explain Celiular Telephone Systems with the help of Frequency Allocation,
: OR
(i)  Draw the block diagram explain the AMPS. _
(it) Explain EDGE in detail. What makes EDGE faster than GPRS?
(B) Answer the following (Any Four out of Six)
I Give full form of MIN.
2 Give full form of MTSO.
3 Define: Frequency Reuse.
4 Give full form of AMPS
5 Define Multiple Access.
6 " Give [ull form of FDMA.
{A) Write the following
(i} Define the terms: VoIP, File Transfer, WWW and STS.
(ii) Write a note on Slorage Area Networks with block diagram.
OR
(1) Explain Frame Relay and Asynchronous Transfer Mode with figure.
(i1) Discuss Internet Backbone with block diagram.
(B) Answer the following (Any Three out of F ive)
1 What is SDH?
2 Give full form of http,
3 Give full form of WWW,
4 Give full form of UDP,
5 Give full form of GPRS.
(A)  Write the following
(i) Explain star topology & ring topology with block diagram.
(i1} Explain LAN & WAN in detail.
OR
(i} Write a Note on Wireless LAN.
(ii) Describe how Hubs and Repeaters are used in LAN.
(B) Answer the following (Any Three out of Five)

L S
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Give full form of MAN.,

Give full form of NAT.

Give full form of PAN.

What is Router?

Give full form of TCP/IP. b
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